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1. Where does the conversation probably take place?
A. In the classroom. B. In the music hall. C. At the party.
2. Where does the conversation probably take place?
A.In a meeting room. B. In a hotel. C. In a lecture hall.
3. Where does our food come from according to the woman?
A. All our food comes from the soil. B. All our food comes from animals.
C. Some food comes from animals.
4. Where does the conversation probably take place?
A. In an office. B. At a restaurant. C. At the airport.
5. Where will the speakers go together?
A. To the party. B. To the cinema. C. To the concert.

6. Where does the conversation probably take place?

A. In a post office. B. At a restaurant. C.In a library.
7. Where is the woman’s husband now?

A. In Japan. - B. In England. C. In France.
8. Where is the woman?

A. In a kindergarten. B. In a theater. C. At her house.
9. Where is the woman'’s father?

A. In China. B. In America. C. In England.
10. Where is the man going?

A. To a park. B. To a party. C. To an office.

Difficult Words and Phrases
contest L3¢, Fip available A I, 25 WA luggage 172

kindergarten 4 JL I at the moment BLZE , H B

A
7

I=



7) X

| L‘,l.l.‘ 1Tl \\\\l ; PR ’ i%ﬂﬁf] : gmﬁ\vngg ~

A

P

FE Y A RAEPD R (=)

——7% % How KR8]

1. How does the man feel about the movie?

A. Bad. B. Excellent. C. New.
9. How will the woman inform Mr. Bright?

A. By giving him a call. B. By sending him an e-mail. C. By paying him a visit.
3. How is the woman driving?

A. Very fast. B. Too slowly. C. Just so-so.
4. How many pills should the woman take a day?

A. Four pills. B. Six pills. C. Eight pills.
5. How much do the typewriters cost now?

A. $3.00. B. $3.15. C. $3.50.
6. How does the woman feel about driving to work?

A. Tired. B. Just so-so. C. Too long.
7. How much does each handbag cost?

A. $40. B. $45. C. $80.
8. How much are the apples a pound?

A. 80 cents. B. 18 cents. C. 8 cents.
9. How long will the man stay at the Science Museum?

A. Four hours. B. Less than four hours.  C.More than four hours.
10. How long does it take the man to go to work on foot?

A. 15 minutes. B. 30 minutes. C. 45 minutes.

Difficult Words and Phrases
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1. What does the man mean?
A. He’s not feeling well.
C. His eye doesn’t hurt very much,
2. What does the man think of the film?
A.It’s a very good film.
C. It is much better than the novel.
3. What does the man say about the cakes?
A. He doesn’t like the cakes.
C. He doesn’t understand why the woman likes the cakes,
4. What does the woman want to do?
A. To borrow a book. B. To buy a book.
5. What language can’t the woman speak?
A. Chinese. B. French.
6. What does the woman usually do on Sunday evenings?
A. Listen to music. B. Watch television.
7. What can we know from the conversation?
A. The woman used to live in the village.
C. The man lives in the city now.
8. What does the man think of Xiao Ying?
A. Honest. B. Untruthful.
9. What’s the man doing?
A. Leaving. B. Driving a car.
10. What do we know about the woman?
A. She stays in the bed. B. She gets up.
Difficult Words and Phrases
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B. He can’t see very clearly.

B. It isn’t as good as the novel,

B. He has never eaten such good cakes before.,

C. To return a book.

C. German.

C. Visit friends.

B. The man used to live in the village.

C. Agreeable.

C. Waiting for a car.

C. She is sick.
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. When will the play start?
A. At 8:15 p. m. B. At 8:15 a. m. C. At 8:50 p. m.

. When will the man have examinations next week?

A. Every day. B. Wednesday and Thursday.

C. Monday, Tuesday and Friday.

3. When does the woman play Ping-Pong?

A. In the morning. B. After school. C. On Sunday.
_When does the woman’s husband work?

A. On Monday, Wednesday,and Friday.

B. On Tuesday, Wednesday,and Saturday.

C. Every day except Tuesday and Thursday.

. When will the book arrive?

A. On Thursday. B. On Wednesday. C. On Tuesday.
_When does the woman's plane leave?

A. At 6:30. B. At 7:30. C. At 8:00.
_When shall the man return the book?

A. June 6 th, B. June 7 th. C. June 9 th.

. What time is it now?

A.7:00. B. 7:30. C. 7:45.

. When should Linda get here?

A. At 8:30. B. At 8:50. C. At 9:00.
10. When does the conversation take place?

A. At 4:45. B. At 5:00. C. At 5:15.

Difficult Words and Phrases
be supposed to W i% 3!
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1. Why are the speakers trying to call David?
A. To tell him that they are busy.
C. To ask him a question about the homework.
2. Why didn’t the man go to see the doctor last week?
A. His injury kept him at home.
C. He forgot to make an appointment.
3. Why did the woman’s parents give her the skirt?
A. As a gift for her birthday.
C. As a reward for doing well in a contest.
4. Why is the woman late for the work?
A. She got up late. B. The bus came late.
5. Why does the man come to San Francisco?
A. To settle down. B. To look for work.
6. Why can't animals think like people?

A. They can’t learn.
7. Why didn’t Arnold pass the driving test?
A. He hadn’t enough time to practice.

C. He was too nervous.
8. Why can’t the woman go to the party?

A. She doesn’t want to. B. She has to work.

B. They have no language.

B. To invite him to see a movie with them.

B. He didn’t think it necessary.

B. As an encouragement to enter a contest.

C. She rode to work.

C. To visit his brother.

C. They have no brains.

B. He wasn't good at driving.

C. She wants to eat out.

9. Which is the best word to describe the man’s character?

A. Humorous. B. Strict.

10. Who did the woman have a wonderful time with?
A. Her old friend. B. Her new friend.

Difficult Words and Phrases
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C. Kind.

C. Her boyfriend.
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1. What does the man mean?
A. He doesn’t plan to move.
C. He was told the dormitory was full.
2. What can we know about the man?
A. He doesn’t like basketball.
C. He will be busy this afternoon.
3. What can we learn from the conversation?
A. The woman refuses the man’s apology.

C. The man had forgotten the whole thing.

BT 5 PREBAT 10 i i i i) Sk 151 25 A7 O /IR B i T — /ML A B R L — i

B. He’s looking for an apartment.

B. He likes football.

B. The man had hurt the woman’s feelings.

4. What is the probable relationship between the speakers?

A. Policewoman and thief. B. Mother and son.
5. Where are the speakers?
A. In a supermarket.

wEBoWH(H 5N, ENE

B. In the public house.

54 ,#%5 22.5 %)

C. Teacher and student.

C. In a hotel.
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6. Who is the woman probably talking to?
B. A man from America.
7. What does the man’s friend do?

A. She’s a doctor. B. She’s a nurse.
WF4E 7 Bobh b, %5 8 2 10 .

8. When does the conversation take place?

A. A man from Japan.

A. In the morning. B. In the afternoon.
9. What did the woman buy last week?

B. A new sofa.

10. What color is the speakers’old sofa?

A. Light blue. B. Brown.
WRES Bebtk 2 11 % 13 /.

11. What do we know about the man?

A. A pair of green shoes.

A. He is very sick.

0

W 455 B X 7 S T 4K A I ] ) 3 4% 1 /N

B. He has stress recently.

SRR/ S BP o WTSE R L & /NEURE 4

C. A man from England.

C. She’s a baby-sitter.

C. In the evening.

C. A green dress.

C. Yellow.

C. He sleeps very well every night.
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12. What is the woman’s suggestion to the man?

A. He should manage to be relaxed. B. He should eat more vegetables.
C. He should see the doctor.

13. Where does the conversation most likely take place?

A. At the man’s home. B. At a restaurant. C. At school.

O BATRE, EA SR 14 % 16 i,

s 3.7 40

14. Why was the man late for work?
A. He got up late. B. He didn’t catch the bus.
C. The traffic was heavy.
15. What can we know from the dialogue?
A. People who join a car pool live nearby and ride in one car.
B. Car pool is the name of a company that helps people hire cars.
C. A car pool is a kind of organization that owns cars and sends people to work.
16. How does the woman know so much about the car pool?
A. She works in it. B. She has joined a car pool.
C. She has read about it in the paper.
5010 BUB Y, 512525 17 % 20 M

17. Where is Newcastle?

A. On the River Tyne. B. On the Thames. C. In the north of England.
18. How many bridges are there on the River Tyne?
A. One. B. Five. C. Ten.

19. What’s the main industry of Newcastle now?

A. Shipbuilding. B. Coal-mining. C. Chemical and soap industries.
20. Why does the man miss Newcastle so much?

A. Because of the special name.

B. Because of the wide and beautiful countryside.

C. Because of the wild and nice countryside with so many hills and streams.

FSUR W
Doing good
To help others,you don’t have to be an efficient expert in the art;the main thing is the inten-
tion. You may be crude and clumsy, wasteful and ineffective, but if you sincerely try to help, you
attempt produces nothing but benefit. The one you are trying to help knows your intention and is
strengthened and encouraged by the magic of your sharing. In nearly every case, your simple de-
sire to help,converted into action,produces the good sought. But perhaps the greatest good is the
good that yourself get out of the attempt.
TE
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VEHL UM A, BT A, 8 95 O BUB (BAR A O B H R h Ra Rk ER . AN
NAGFARA AR B I, 23 PR DA R L 40 BRI 5 10 BB ) i R AR AR Ok . R LSl AN B A 20 B IR AHE AT sh et
A JUPAR 2 A BUHRER . HEUFBERNERNEZRMNEBCE IS E S IR EKER.
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1. What are the speakers doing?
A. Meeting a friend. B. Waiting for the train.

2. When does the second show start?
A. At 7:00. B. At 7:10.

3. Where is the man going?
A. The station, B. The airport.

4, Why can’t the man attend the woman's wedding?

A. He is very ill. B. He has no time.

(2]

A. Neighbors. B. Friends.
FW(H IS/, E|/NE .55 ,#5 22.5 %)

C. Watching a film.

C. At 9:10.

C. The office.

C. He is badly injured.

. What is the probable relationship between the speakers?

C. Strangers.

WE R 11 S B il sl g 1, A BOW B SO S A LA /NS TR RS 1 ALCBLC A R i H R R
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6. What are the people doing in the house?

A. Having dinner.
7. Who is Karl Black?

B. Having a party.

A. The woman’s daughter’s boyfriend.
C. Miss Zhong’s boyfriend.

P47 BobhR %% 8 F 10 8,

8. What can’t the speakers agree on?

A. When to watch TV.

C. What program they are going to watch on TV,
9. Why does the man want to watch the football game?
A. The game is the most important of the season.
B. He wants to see his favorite players.
C. The game is over today.
10. What will the speakers do at last?
A. Watch the game together.
Ry

\
¢

C. Watching TV.

B. The man’s daughter’s boyfriend.

B. What they are going to do.

B. Go to the cinema together.
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C. Do different things separately.
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11. Where does the conversation most probably take place?

A. In the classroom. B. In the computer room. C. In the dormitory.
12. What is the man going to do tomorrow?
A. To give a report in class. B. To hand his reading report in.
C. To play tennis with the woman.
13. Why can’t the man do the reading at home? .
A. He won’t go home tonight. B. He doesn’t have a computer at home.
C. His computer at home is not connected to the Internet.
BEROR, 2455 14 L 16 4,

14. What job would the woman do?

A. Cook meals. B. Do house work. C. Take care of children.
15. How many hours would the woman work a week?
A. 14 hours. B. 25 hours. C. 40 hours.
16. What can we learn about the woman from the conversation?
A. She is well qualified for the job. B. She has a big family to support.
C. She has several children.

i 10 BEbARE, 2556 17 % 20 W,

17. What is the speaker mainly talking about?

A. New technology. B. Blue sea. C. Sea animals.
18. Who can get around like fish in the sea according to the speaker?
A. The divers. B. The scientists. C. The robots.
19. What connects the sea with the land?
A. Today’s diving suits. B. New wireless technology.
C. The newest robots.
20. What is the use of the underwater hydrophones?
A. They can produce sounds. B. They can send back ocean sounds.

C. They can receive and record ocean sounds.

: F R B

Service to others delivers more joy to you than the joy you deliver to them. In doing good, you
free yourself from the terrible burden of self; you escape from yourself into a clean world of joy
and light, The good you simply try to do, regardless of the outcome,is always a success inside
yourself.
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1. What would the man want to buy?
A. A horse. B. A house down the mountain.
C. A house near the sea.
2. How did the man cross the river?
A. By swimming. B. By boat. ~ C. By bridge.
3. What is the probable relationship between Mary and the man?
A. Wife and husband. B. Secretary and boss. C. Daughter and father.
4. What does the woman mean?
A. The man needs a vacation. B. The man should be preparing for his tests.
C. The man doesn’t need to worry about his exams.
. When will Alice be back?
A. At 10 o’clock. B. At 11 o’clock. C. At about 11:10.
EoH(H 15ME;BNMNE LS S,#8 22.55)
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6. How long is the woman going to stay at the hotel?

A. Two days. B. Three days. C. Six days.
7. When will the woman check out?

A. On September 27. B. On QOctober 2. C. On October 3.
B 7 BebhRy [ 8 % 10 .

8. What’s the woman doing?

A. Buying a gift for her son. B. Looking at a birthday cake.
C. Buying herself a bicycle.
9. How old is Bob now?

A. 14, B. 15. C. 24,
10. What color does the woman buy?
A. Blue. B. Yellow. C. Black.
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11. How does the woman feel at first?
A. She is a bit angry with the man. B. She is very happy to see the man.

(/. She iS vVery Surprised to see the man.
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12. When should the man have arrived?
A. At 7:50. B. At 8:00. C. At 8:10.
13. What can we learn from the conversation?
A. The speakers hate each other. B. The speakers misunderstand each other.

C. The speakers come from different countries.
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14. What nationality is the woman most likely to be?

A. English. B. Spanish. C. French.
15. Which language does the English teacher teach her students?

A. In English. B. In Spanish. C. In French.

16. How is the woman’s studying of English?
A. Not very good. B. So-so. C. Excellent.
WA 10 B AbR, &S 17 E 20 L
17. What happened to the speaker and her husband?
A. They got lost in the dark. B. They couldn’t find their seats.
C. They found their seats with difficulty.
18. Why were there no lights?
A. To make the seats cheaper. B. To save money probably.
C. To get it repaired.
19. What was the cinema like?
A. It was not very crowded. B. It was very crowded.
C. It was half empty.
20. What did the speaker and her husband want to see?

A. Different films. B. Only the first {ilm. C. Only the second film.
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Joy in living

Joy in living comes from having fine emotions, trusting them, giving them the freedom of a
bird in the open. Joy in living can never be assumed as a pose,or put on from the outside as a
mask. People who have this joy do not need to talk about it;they radiate it. They just live out their
joy and let it splash its sunlight and glow into other lives as naturally as bird sings.

We can never get it by working for it directly. It comes, like happiness,to those who are ai-
ming at something higher. It is a byproduct of great, simple living. The joy of living comes from
what we put into living,not from what we seek to get from it.
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1. What does the woman mean?

A. Please smoke over there. B.Just smoke here. C. You can't smoke anywhere.
2. What can we know about the woman?

A. She’s too busy to help the man today. B. She'll have time later in the day.

C. She'll finish the report by noon.
3. What does the woman mean?

A. The professor should be more serious. B. She will not go to the movies with the man.

C. The man should review his lessons just in case.
4, Why is the man going to Hong Kong?

A. To sec a doctor. B. To meet his friend. C. To be an assistant of his teacher.
5. What is Peter going to do this afternoon?

A. Play basketball. B. Ride a bicycle. C. Go swimming.
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6. Why is the man upset?

A. The boss knows his secret. B. The boss doesn’t like him.
C. He is too tired to work.
7. What do we learn from the conversation?
A. The boss doesn’t mind his workers having part-time jobs.
B. The man is astonished that the woman could have told the boss.
C. The woman was not willing to help the boss.
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8. Where did the woman spend her holiday?

A. At home. B. In an interesting place. C. At a native's home.
9. What did the man do during the holiday?
A. Traveled some places. B. Played with his friends.

C. Taught himself on the Internet.
10. How did the woman feel about her holiday?

A. Very irlleresting. B. Very bOring. (/. very meaningful.
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